Untitled.notebook November 15, 2017

Mr. Svarc's Magic???

VOLUNTEER...

1. Pick a number between 50 and 99.
2. Add 63.
3. Cross out the hundreds digit and add to the units digit.

4. Subtract the answer from the original number.

READY TO BE AMAZED???
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Parallel Lines???

o

'hat you should have found by measuring the angles above is that whf_m
lines are parallel and intersected by a transversal:
»  The measures of corresponding angles, alternate interior angles, and

alternate exterior angles will be equal. (If such angles do not have equal
measures, then the lines are not parallel.)

» Interior and exterior angles on the same side of a transversal will be

ﬂjlementar}t (If they are not, then the lines are not parallel.) /
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p. 76
EXAMPLE 2 Using reasoning to determine unknown angles
°
Determine the measures of a, b, ¢, and 4. \ |
a
[o*
j nor
Kebeh's Solution
Lo FLOC -o-------------1he 110° angle and £a are corresponding. Since the
lines are parallel, the 110° angle and ~a are equal.
La= Lk "'""""""""""''""'""Ew'erticallyr opposite angles are equal.
Zb=110°
Le+ La= 180° 'E‘L,= L, > B Zc and £a are interior angles on the same
Se+110° = 180° a=T0C c=7/0 side of a transversal. Since the lines are
Le=T0° - # 77 parallel, £c and £a are supplementary.
/110" i / g | updated the diagram.
Le=Ld
Ld=T0°  rrrmmmmmmmmmmmmmmmmmsmmoemeeee Zc and £d are alternate interior angles. Since the
The measures of the angles are: lines are parallel, ~c and ~d are equal.

La=110% L6 = 110%
Loe=T70% £d=70°
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EXAMPLE 3 Using reasoning to solve problems J USTl FY!II

( RKewson )

Determine the measures of

,13‘2;5), L%ﬂ, and L%.
W T
(sarlh rA) (A 2/

R
Tyler's Solution
MN is a transversal of parallel lines LQ and NP, -------- @N intersects parallel lines LQ and NP.
LMNO + 20° = 67°  --oooommeniicionoeneeooooeooo-(Uginea / IMN and £ MNP are alternate interior
L MNO = 47° angles between parallel lines, they are equal.
LNMO + LMNO + 39° = 180° The measures of the angles in a triangle add
L NMO + (47°) + 39° = 180° to 180°.

£ NMO + 86° = 180°
LINMO = 94°

LNMO + £QMO + 67° = 180°  --=-=-=--==-==-=-=- LLMN, £ZNMO, and £QMO form a straight line, so
(940) + £ QMO + 67° = 180° their measures must add to 180°.

161° + 2 QMO = 180°
£QMO = 19°

The measures of the angles are:

LMNO = 47° L NMO = 94° £ QMO = 19°
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Homework...
. 72: #2,5

p. 78: #1,2, 4,15
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